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== 67,500
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2A: BEEX
B HRIE0ILKIH
el g ESR=ED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
N2DYLONS NA(HY 2FUHA =4
AN2RE2) 300,000 x 14 =123 50,400
2B HOIALTIA (KL0RI0I)
768,000,000 768,000
= 384,000
& 192,000
= 192,000
307 212+01™ 1,510,000 1,508,358 1,642
= 755,000
& 377,500
= 377,500
10 Al =S XA EEE 23 1,510,000 1,508,358 1,642
1)2ZEOIAIL IR (ASI 2 X 1012101
) 1,160,000,000& 1,160,000
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& 290,000
= 290,000
1) SO AXE ALK (AISIEXIE IO 2l
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BEUNAHSINE(EX) 138,100 139,297 A1,197
= 69,050
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= 69,050
= 34,525
= 34,525
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= 23,525
NsEESUAMSESY 44,000,000& 44,000
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307 212+01& 21,800 17,212 4,588
= 10,900
=S 5,430
s 5,470
10 Al SXAEEE 22X 21,800 17,212 4,588
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= 10,800
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10 AlRISTIAEEE 22X 56,000 56,000 0
1)3-5M1 Feltd 2SHI(ARI=SRIE10{2!0]
g) 777, TTT 260 A 128 56,000
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= 699,011
OEloIE2d(Ex) 66,780 70,821 A4,041
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301 EtE NS 1,500,000 1,388,180 111,820
= 975,000
== 262,500
[Ea 262,500
01 AR 2EHSHS(RNEXRTHE) 1,500,000 1,388,180 111,820
2220 X2 1,500,000,000& 1,500,000
= 975,000
=S 262,500
s 262,500
308 XXM SOIA 30,000 0 30,000
= 19,500
=S 5,250
s 5,250
18 SIS B ASAI I 30,000 0 30,000
NRE220 B8 30,000,000& 30,000
= 19,500
= 5,250
[Ea 5,250
NS ARAH S IIHI(Ex) 976 1,246 A270
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o 488
307 212+01& 976 1,246 A270
= 488
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6 2= 976 1,246 270
NAESAL 282 X 976,000 976
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o 488
AESAHEZ2E 2 d 5t 57,900 59,200 A 1,300
201 fer=2 3| 5,900 7,200 1,300
01 AtR2tc|HI 5,020 5,920 A900
NIESAHE AIRES & 88 228 2
=t 166,600 «12& 2,000
DA SAKIE 222 MZH|
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DNAASAAIE Z201E WA
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= 4,850
Ea 11,020
11 AMEISXAIEEXS 15,870 15,870 0
NI SAHE S S SIAIG I H
15,870,000 15,870
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